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No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 AL R4.10.3 BEARLUL=F (FEER BREE9(<3.7) 10.9 11
2 A= R4.10.3 [RARLULM =T (FBER BRHET(<45) BRHEET(<41) - Janpcc
3 K= R4.10.3 FREARLWM=F (5% BRHEE9(<3.8) 12.5 13
4 AETH R4.10.5 FREARLWM=1F (5% BREE3(<44) 352 35
5 K= R4.10.5 FREARLW=1F (5% BRHEE9(<3.6) 423 42
6 At R4.10.5 BEERLULM=T (FE% BRHET(<L5.5) BRHET(<48) - Janpcc N
7 EZAM R4.10.4 BERLULV =T (7EER) BRHET(<4.0) BRHEET(<41) BRHEY
8 N /N ] R4.10.3 BERLULV =T (7EER) BRHEE9(<3.9) 17.5 18
9 KEH R4.10.3 BERLULV =T (7EER) BRHET(<3.2) BRHEET(L3.1) BRHEY
10 SRR THT R4.10.3 BERLULV =T (7EER) BRHET(<3.6) BRHEET(<41) BRHEY
11 SEEEMT R4.10.3 BERLL=F (FEER) BRHE9(<3.3) BHE9(<35) BREEY
12 s EN) R4.10.4 RIS (EHh) BRHET(<L35) 6.30 6.3
13 [EEE L) R4.10.4 [RARZH (FEih) BHEY(<38) BRHEEY(<4.0) BHEY
14 CEE=3= 3] R4.10.3 [RARZH (FEih) BRHE3(<4.0) BRHE9(<35) BREEY
15 FETH R4.10.3 BRSO (%) BRHEE3(<2.7) BRHE9(<3.2) BHEY
16 Zth R4.10.4 FRARZEL =T (Fih) BRHE(<3.9) 4.36 4.4




BRERER

No 5 RERH AHDERE Iy L-134 2 L-137 BEE
Ba/ ke Ba/ke Ba kg

17  RRET R4.10.4 BRAV LTI (i) BREET(<27) 7.79 78

18 T 4ERET R4.10.5 BRU o111 (Fih) BRHEE7(<4.9) BRHEE7(<45) BREEd

19 Hh = BT R4.10.4 EERU 1= (FEER) BRHEE7(<4.0) BRHEE7(<42) BREEY

20 tRET R4.10.4 BRU 1= (M%) BREET(<4D) BRHEE7(<5.9) BREEY

21 = EHr R4.10.4 BRI =17 (i) BRHEY(<5) 15.4 15

22 F=IEHT R4.105 T35 (REH) BRHE9(<26) BRHEY(<26) BREEY

23 REHT R4.10.4 THNIE7 (BER) BRHE9(<46) 15.6 16

24 REHET R4.10.4 RAZT (BER) BRHEY(L<5.1) BRHE9(<35) BRHEET
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